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Provided that there is an adult with him — AP 9178 R XYM

OVERVIEW

X177 27 qualified the ruling of the 7iwn that in various cases an adult may testify
what he saw as a child; that it is limited to where another adult, who saw it as an
adult, testifies together with him. N1901n limits the statement of X117 27.
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X117 17 is not referring to the ruling regarding 190 in our 7wn, for by 219N,

one (current) adult is sufficient, since we do not elevate from 33297 7190 to
PR -
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For that (since we maintain that Pom"> 131277 72707 15va 1X) is the reason that

the X713 established the case of 72170 in the 71wn, by 33397 720 -
- “YapY 119N PONPY NINM PIINAT YT NN 1207 113 NIPINNT NNINIT

For (we cannot establish our 71wn) by XnmIRT 72190, since the Xin of our 71wn»

maintains that we are 77v» from Xn>>7IR7 72770 to 1PonY as the Xn) states later,
therefore this 2173 who is testifying what he saw 1mivp2a -
- 'y 9172 U 1999N JNINI 10N

Will not be believed (by Xn»1x7 72170) even if there is a ®173 with him; however

by 13277 77170 he will be believed (with the 1y 7173) -
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Therefore by 11277 72190 where there is no concern of Pon? Povn, it is sufficient

' The nawn stated that an adult may testify the he remembers as a jvp, that a certain person ate 72170. He is believed
even if there is no other adult to substantiate his claim.
? There is a dispute whether we require one Tv or two 079 to be Am17n2 2°2x». The X3 previously explained (2,72)
that this depends on whether Pomv% mnn Poyn (two 27y are required) or TORY? AR POV PR (one TV is
sufficient). If our 773w» maintains [7°011°% 11277 7a701] Po¥n 1R and one 7Y is sufficient, there is no need to have him
and the 1y 9173, for the 9173 alone is sufficient.
3 See the X3 on X,70 which states; 73°P07% X2 13277 AnI1IN2 RN™IIRT 7121902 0017 7RIINR PROR M.
* mooin intends to prove that our X3 maintains P°on? 11377 7 NR 179V PR.
> If our Xn will maintain 70N 13277 AN Poyn, why do we need to establish our mawn by 13377 7270, we can
establish it even by Xn»7IX7 710 since our Xin (in any event) will need to maintain that he and a ¥y 9173 are
sufficient (if he maintains 10112 731277 7N 1°2¥n) and is not concerned that through their testimony we will be
1on? A%un (for the Xin will contend that vy 91731 X371 are sufficient even for 10nv). See “Thinking it over’.
® See the X3 on the 'a Ty,
7 By pomy we require two proper 279 (not 2>7y that are JN1VP2 W M T'YR), therefore since we are TIND YR
7°OMYR XRN™IRT, we also require the same level of M7Y by Xn»MRT 772170,
¥ We cannot say that we need them both, because since "1 19vn X, the proper 2173 alone will be enough! See
footnote # 2.
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that he alone testify what he saw 1nvpa -

mooIn explains the difference between 72170 and the other cases of the miwn:
I9ANY NINA 230 1329910 591 199927 XN 9
But whenever two are required for a 31297 issue, it is sufficient for him (the one

that is testifying 1m1vp2a XY 1) and another proper 7¥ to testify for this 1127 issue;
however by 11277 717N there is no need for two O°7¥ even 112777.

SUMMARY
By 7170, one person is sufficient to testify what he saw 1n1vp2.

THINKING IT OVER

mooIN proves that our XiIN maintains 1°0717 1312977 72102 PYn PR, for otherwise
why cannot we establish the 71wn by 8n»x7 7m110.' Seemingly nooin could have
brought a simpler proof, that the 7awn cannot maintain 121 P2yn, for by Pony we
require two 2Ww> 07y and not 11y Y171 X!

? This refers to the other issues in the mwn, for instance MY avp, etc. See NIDBOIN in 12°OK 7"7 R,03 PV that (also)
by 1mInn two 27y are not required (according to the second answer there).
10 See footnote # 5.
' See x"y1 "0 and man MK
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